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lkekU; funsZ’k%lkekU; funsZ’k%lkekU; funsZ’k%lkekU; funsZ’k%    
General Instructions: 

1. ijh{kkFkhZ ;FkklaHko vius ‘kCnksa esa gh mÙkj nsaA 
Candidates are required to give their answers in their own words as for as 

practicable. 

2. bl Á’ui= esa nks xzqi & A vkSj B gSaA nksuksa xzqiksa ds lHkh Á’uksa ds mÙkj nsuk vfuok;Z gSA 
 xzqi & A ¼HkkSfrdh ,oa jlk;u½                           & 50 vad 
 xzqi & B ¼tho foKku & ltho txr ,oa ÁkÑfrd lalk/ku½ & 30 vad 
 This question paper has two group A and B. It is compulsory to answer all 

the questions of both the groups. 

 Group – A (Physics and Chemistry)                                            – 50 Marks 

 Group – B (Biology – World of Living and Natural Resources) – 30 Marks 

3. ÁR;sd Á’u ds vad mlds lkeus vafdr gSaA 
Marks allotted to each question are printed against it. 

4. Á’uksa ds mÙkj Á’uksa ds lkFk fn, x, funsZ’kksa ds vkyksd esa gh nsaA 
Answer the questions as per instructions given with questions. 

5. lHkh jQ dk;Z Á’u&lg&mÙkjiqfLrdk ds var esa fn, x, i`”Bksa ij gh dhft,] vU;= 
ughaA 
Do all rough work in the last pages of the Question-cum-Answer booklet and 

nowhere else. 

6. 1 vad okys Á’uksa ds mÙkj ,d ‘kCn ;k ,d okD; esa nsaA 
2 vad okys Á’uksa ds mÙkj yxHkx 40 ‘kCnksa esa] 3 vad okys Á’uksa ds mÙkj yxHkx 50 
‘kCnksa esa ,oa 5 vad okys Á’uksa ds mÙkj yxHkx 70 ‘kCnksa esa nsaA 
Answer in one word or in one sentence the questions of 1mark. Answer in about 

40 words the question of 2 marks, answer in about 50 words the question of 3 

marks and answer in about 70 words the question of 5 marks.  

7. tgk¡ dgha Hkh fp= vko’;d gks] mUgsa LoPNrk ds lkFk Li”V #i esa [khafp,A   
Draw neat and clean diagram wherever necessary. 
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  xzqi xzqi xzqi xzqi A ¼HkkSfrdh ,oa jlk;u½¼HkkSfrdh ,oa jlk;u½¼HkkSfrdh ,oa jlk;u½¼HkkSfrdh ,oa jlk;u½    
Group – A (Physics & Chemistry) 

Class X
th

  

1. i. xksyh; niZ.k ds T;kfefr dsUnz dks D;k dgrs gS\¼mÙkj ,d ‘kCn ;k ,d okD; essa nhft,½ 

What is the geometrical centre of a spherical mirror called? (Answer in one word or in one 

sentence) 

1 

 ii. ok;q esa xeu djrh Ádk’k dh ,d fdj.k ty esa frjNh Áos’k djrh gSA D;k Ádk’k fdj.k vfHkyEc dh 

vksj >qdsxh vFkok vfHkyEc ls nwj gVsxh\ ¼mÙkj ,d ‘kCn ;k ,d okD; eass nhft,½ 

A ray of light traveling in air enters obliquely into water. Dose the light ray bend 

towards the normal or away from the normal? (Answer in one word or in one sentence) 

1 

 iii. nwj &n`f”V nks”k fdl Ádkj ds ysal }kjk nwj fd;k tkrk gS\ ¼mÙkj ,d ‘kCn ;k ,d okD; eass nhft,½ 

By the use of which lens is eye-defect of long sightedness corrected?  (Answer in one word 

or in one sentence) 

1 

 iv. fo|qr /kkjk dk S.I. ek=d D;k gS\ ¼mÙkj ,d ‘kCn ;k ,d okD; essa nhft,½ 

What is the S.I unit of electric current?  (Answer in one word or in one sentence) 

1 

 v. ÁR;korhZ /kkjk ,oa fnLV/kkjk esa ,d varj fyf[k,A ¼mÙkj ,d ‘kCn ;k ,d okD; esssa nhft,½ 

Mention one difference between alternating current and direct current?  (Answer in one 

word or in one sentence) 

1 

2. i. mip;u dks jksdus okys inkFkksZa dks D;k dgrs gSa\ ¼mÙkj ,d ‘kCn ;k ,d okD; esssa nhft,½ 

What are the substances called which stops oxidation?  (Answer in one word or in one 

sentence) 

1 

 ii. csfdax lksMk dk jklk;fud lw= fyf[k,A ¼mÙkj ,d ‘kCn ;k ,d okD; essa nhft,½ 

Write the chemical formula of  baking soda?  (Answer in one word or in one sentence) 

1 

 iii. ,d /kkrq dk uke crk,¡ ftls pkdw ls vklkuh ls dkVk tk ldrk gSA 

¼mÙkj ,d ‘kCn ;k ,d okD; ess nhft,½ 

Name one metal which can be easily cut with a knife?  (Answer in one word or in one 

sentence) 

1 

 iv. ,sYdsu dk lkekU; lw= D;k gS\ ¼mÙkj ,d ‘kCn ;k ,d okD; essa nhft,½ 

What is general formula of alkane?  (Answer in one word or in one sentence) 

1 

 v. v"Vd ds fu;e dks fdlus Áfrikfnr fd;k\ ¼mÙkj ,d ‘kCn ;k ,d okD; eass nhft,½ 

Who proposed the law of Octaves?  (Answer in one word or in one sentence) 

 

3.  vory niZ.k esa curs gq, ÁfrfoEc dk ,d LoPN fdj.k vkjs[k [khafp,] tc oLrq dks Qksdl ,oa oØrk 
dsUnz ds chp j[kk tkrk gSA 

2 



  

 

Draw a neat ray diagram of an image formed by in concave mirror when the object is placed 

between focus and centre of curvature. 

4.  fuEufyf[kr jklk;fud lehdj.k dks larqfyr dhft, % 

Balance the following chemical equations : 

(a) H2S + O2                     H2O + SO2 

(b) H2 + O2                       H2O 

1x2=2 

5.  ekuo us= dh lkekU; n`f”V ds fy, nwj fcanq rFkk fudV fcanq us= ls fdruh nwjh ij gksrs gS\ ¼mÙkj 
vf/kdre 40 ‘kCnksa esa nhft,½ 
 

What is the fat point and near point of human eye with normal vision? 

(Answer in maximum 40 words) 

2 

6.  bysDVªkWu ds LFkkukarj.k ds }kjk Na2  O dk fuekZ.k n’kkZb,A 
 

Show the formation of Na2  O by the transfer of electrons. 

2 

7.  yky jax [krjs ds lwpd ds #i esa yk;k tkrk gS] D;ksa\ ¼mÙkj vf/kdre 40 ‘kCnksa esa nhft,½ 
 

Why is red coluor used as signal for danger ? (Answer in maximum 40 words) 

2 

8.  vkids vuqlkj mRÑ”V xSlksa dks vyx lewg esa D;ksa j[kk x;k\  
¼mÙkj vf/kdre 40 ‘kCnksa esa nhft,½ 
 

Why do you think the noble gases are placed in a separate group? 

(Answer in maximum 40 words) 

2 

9.  20cm Qksdl nwjh ds ,d mÙky ysal ls 10cm dh nwjh ij 4cm m¡ph ,d oLrq j[kh gSA ml ÁfrfcEc 

dh fLFkfr] ÁÑfr vkSj vkdkj Kkr dhft,A 
 

An object of 4cm height is placed at a distance of 10cm from a convex lens of focal length 

20cm. Find the position, nature and height of the image. 

3 

10.  fn, x, fp= esa ty ds lkFk Ca O dh vfHkfØ;k dks n’kkZ;k x;k gSA 

 

 

 

  

1x3=3 

 i. [1] ,oa [2] dk uke fyf[k,A  

 ii. blesa gksus okyh vfHkfØ;k dk uke fyf[k,A  

 iii. vfHkfØ;k ds fy, larqfyr lehdj.k fyf[k,A ¼mÙkj vf/kdre 40 ‘kCnksa esa nhft,½  

   

 

 

[1] 

[2] 

dSfYl;e vkWDlkbM 



  

  The reaction of water with Ca O has been shown in given diagram. 

 

 

 

  

 

1x3=3 

 i. Write the names of [1] and [2]  

 ii. Write the name of reaction taking place.  

 iii. Write the balanced equation for reaction taken place.  

  (Answer in maximum 40 words)  

11.  Áfrjks/k fdls dgrs gSa\ 1 Ω ] 2 Ω rFkk 3Ω Áfrjks/k ds rhu Áfrjks/kd Js.khØe esa la;ksftr gSaA budk 

lerqY; Áfrjks/k fdruk gksxk\ 

¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 

1+2=3 

  What is resistance? Three resistors of resistances 1 Ω ] 2 Ω and 3Ω are connected in series. 

How much will be their equivalent resistance?  

(Answer in maximum 50 words) 

1+2=3 

12.  ,d csdj us ik;k fd mlds }kjk cuk;k x;k dsd l[r vkSj vkdkj esa NksVk gSA og dkSu lk la?kVd 

Mkyuk Hkwy x;k gS ftlls dsd Qwyk gqvk cu ldrk Fkk\ dkj.k crkb,A 

¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 

3 

  vFkokvFkokvFkokvFkok     

  fuEukafdr esa ls ÁR;sd vEy ds ÁkÑfrd lzksr D;k gS\ 

(a) ySfDVd vEy   (b) esFksukWbd vEy  (c) VkVZfjd vEy ¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 

1x3=3 

  A baker found that the cake prepared by him is hard and small in size. Which in gradient has 

he forget to add that would have made the cake fluffy? Give reasons. 

(Answer in maximum 50 words) 

 

  OR  

  What are the natural sources of each of the following acid? 

(a) Lactic acid   (b) Methanoic acid   (d) Tartaric acid  (Answer in maximum 50 words) 

1x3=3 

13.  vksLVSM ds Á;ksx dk o.kZu dhft,A ¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 3 

  vFkokvFkokvFkokvFkok  

  pqEcdh;  {ks= js[kk fdls dgrs gSa\ nks pqEcdh; {ks= js[kk,¡ ,d nwljs dks ÁfrPNsn D;ksa ugha djrh gSa\ 
¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 

1+2=3 

[1] 

[2] 

dSfYl;e vkWDlkbM 



  

  Describe Oersted’s experiment. (Answer in maximum 50 words) 3 

  Or  

  What is magnetic field line? Why does not two magnetic field line intersect each other? 

(Answer in maximum 50 words) 
1+2=3 

14.  lar`Ir ,oa vlar`Ir gkbMªksdkcZu ds chp varj fyf[k,A ¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 3 

  Write the differentiate between a saturated and un saturated hydrocarbon. (Answer in 

maximum 50 words) 

3 

15.  lEcU/k V = RI, tgk¡ V = foHkokarj] R = Áfrjks/kd ,oa I = /kkjk] fdl fu;e ij vk/kkfjr gS\ lacaf/kr 

fu;e dks fyf[k, ,oa lR;kfir dhft,A ¼mÙkj vf/kdre 50 ‘kCnksa esa nhft,½ 

1+1+3=5 

  vFkokvFkokvFkokvFkok  

  fo|qr tfu= D;k gS\ A.C ¼ÁR;korhZ /kkjk½ fo|qr tfu= dh dk;Z fof/k dk lfp= o.kZu dhft,A ¼mÙkj 
vf/kdre 50 ‘kCnksa esa nhft,½ 

1+1+3=5 

  On which law is the relation V = RI, where V = potential difference, R = Resistance and I = 

current, based? Write and prove that law concerned. (Answer in maximum 50 words) 

1+1+3=5 

  Or  

  What is electric generator? Describe the working of A.C (Alternating current) electric 

generator with labeled diagram. (Answer in maximum 50 words) 

1+1+3=5 

16.  fn, x, fp= esa /kkrqvksa esa pkyd dk xq.k ÁdV djus ds fy, fd, x, Á;ksx fn[kk;k x;k gSA [1], 

[2], [3], [4] ,oa [5] dk ukekadu dhft,A 

In the given figure the experiment of the property of conducting of metals is shown. Label 

against [1], [2], [3], [4] and [5] 

 

 

 

 

 

 

 

 

5 

  vFkok@vFkok@vFkok@vFkok@ Or  

  felsy D;k gS\ tc lkcqu dks ty esa Mkyk tkrk gS rks felsy dk fuekZ.k D;ksa gksrk gS\ D;k ,FksukWy 

tSls nwljs foy;dksa esa Hkh felsy dk fuekZ.k gksxk\ 

Define micelle. Why does micelle formation take place when soap is added to water? Will a 

micelle be formed in other solvents such as ethanol also? 

 

LVSaM 

DySEi 1 

3 4 
2 

5 



  

  xzqi xzqi xzqi xzqi B ¼tho foKku & ltho txr vkSj ÁkÑfrd lalk/ku½¼tho foKku & ltho txr vkSj ÁkÑfrd lalk/ku½¼tho foKku & ltho txr vkSj ÁkÑfrd lalk/ku½¼tho foKku & ltho txr vkSj ÁkÑfrd lalk/ku½    
Group – B (Biology – World of livings and Natural Resources) 

 

    

17. i. ‘kjhj esa ik;s tkus okys tSo mRÁsjd inkFkksZa dks D;k dgrs gSa\ ¼mÙkj ,d ‘kCn ;k ,d okD; esa nhft,½ 

What do we call the biocatalusing. Substances found in our bodies? (Answer in one word or 

in one sentence) 

1 

 ii. nks rfU=dkvksa ds e/; [kkyh LFkku dks D;k dgrs gSa\ ¼mÙkj ,d ‘kCn ;k ,d okD; esa nhft,½ 

What do we call the junction place of dendrites of two neurons? (Answer in one word or in 

one sentence) 

1 

 iii. tuu dh fdl fof/k }kjk leku xq.kksa okys thoksa dh fo’kky vkcknh dks dk;e j[kk tk ldrk gS\ 

¼mÙkj ,d ‘kCn ;k ,d okD; esa nhft,½ 

Through which method of reproduction can a hugh population of organisms with similar 

characteristics be maintained? (Answer in one word or in one sentence) 

1 

 iv. thu dgk¡ ik;s tkrs gS\ ¼mÙkj ,d ‘kCn ;k ,d okD; esa nhft,½ 

Where are genes found? (Answer in one word or in one sentence) 

1 

 v. la{ksi.k CNG dks foLrkfjr dhft,A ¼mÙkj ,d ‘kCn ;k ,d okD; esa nhft,½ 

Expand the abbreviation CNG? (Answer in one word or in one sentence) 

1 

18.     _rqlzko D;ksa gksrk gS\ ¼vf/kdre 40 ‘kCnksa esa mÙkj nhft,½ 

Why does menstruation occur? (Answer in maximum 40 words) 

2 

19.     lkSj lsy ds fuekZ.k esa Á;qä fdUgha ^nks ryksa* ds uke fyf[k,A ¼vf/kdre 40 ‘kCnksa esa mÙkj nhft,½ 

Write names of any two elements used in fabricating a solar cell? (Answer in maximum 40 

words) 

2 

20.     ÁR;sd ikfjra= ,d xR;kRed rU= gksrk gS dSls\ ¼vf/kdre 40 ‘kCnksa esa mÙkj nhft,½ 

Every eco system is a dynamic system, How? (Answer in maximum 40 words) 

2 

21.     ÁkÑfrd lalk/ku D;k gS\ mnkgj.k nhft,A ¼vf/kdre 40 ‘kCnksa esa mÙkj nhft,½ 

What is the natural resource? (Answer in maximum 40 words) 

2 

22.     euq"; esa nksgjk ifjlapj.k dh O;k[;k dhft,A ¼vf/kdre 50 ‘kCnksa esa mÙkj nhft,½ 

Explain double circulation in human being ?(Answer in maximum 50 words) 

3 

23.     uj rFkk eknk tuu gkeksZu ds uke vkSj dk;Z fyf[k,A ¼vf/kdre 50 ‘kCnksa esa mÙkj nhft,½ 

Write names and function of male and female sex harmones? (Answer in maximum 50 

words) 

3 



  

24.     gkeksZu D;k gS\ fdUgha nks ikni gkeksZuksa ds uke vkSj dk;Z fyf[k,A ¼vf/kdre 50 ‘kCnksa esa mÙkj nhft,½ 

What is a hormone? Name any two plant hormones and write their functions. 

(Answer in maximum 50 words) 

3 

25.     Mhå,uå,å vkuqoaf’kdrk dk vk/kkj gS dSls\ ¼vf/kdre 50 ‘kCnksa esa mÙkj nhft,½ 

D.N.A. is the basis of heredity. How? (Answer in maximum 50 words) 

3 

     vFkok@ vFkok@ vFkok@ vFkok@ OR  

     vkuqoaf’kdrk esa Mhå,uå,å dh D;k Hkwfedk gS\ ¼vf/kdre 50 ‘kCnksa esa mÙkj nhft,½ 

What is the role of D.N.A. in heredity? (Answer in maximum 50 words) 

3 

26.     ekuo ân; ds ifjPNsn dk ukekafdr fp= cukb,A Draw a labeled diagram of the section of 

human heart. 

5 

     vFkok@ vFkok@ vFkok@ vFkok@ OR  

     (a) vkuqokaf’kdrk esa esaMy dk D;k ;ksxnku gS\ 

       What is contribution of Mendel in Heredity? 

3 

     (b) thok’e fdls dgrs gSa\ ¼mÙkj vf/kdre 70 ‘kCnksa esa nhft, ½ 

       What is Fossil? (Answer in maximum 70 words) 

2 

 


